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TestC4.1-4.2 Name: t
4a) Sketch a graph of the given equation.

b) _Give or label the horizontal and vertical asymptote c) Give the Domain
J,;:*E yAr X=0 -':(-—00,0)\!(0‘00) — y
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ba) Sketch a graph of the given equation. _% )
b) Give or label the horizontal and vertical asymptote ¢) Give the Domain £ t'\} i -g
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5. Use the equation to answer the following: . )
[
_ —4x+8 :
= sx+15 J
a) Find the vertical asymptote c) Find the y-intercept of the graph
—Sa+15=0 B = B
s =5x @ 3 'S
b) Find the horizontal asymptote d) Find the x-intercept of the graph
-:."_Lt_ :'..i g ~4x+-8=0
-5 s I3 B =4,
e) Sketch a graph @
[
\
\ o |l ! I{;D -._-l-l[l.{ l"%
- e m o w Eepe T --—-.--‘I""h-.'--.--- ‘5(”)1"[5
==l +%
_—-_“
-0 H\5
=8 -8
- 5




6. Use the equation to answer the following: -c(‘.'-b a koo™ a_! I3 .25 L[-S\ = (-33) _1_5)'_ +
2 - i \-u-5% A (-.S) :{
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a) Find the verlic cal asymptote c) Find the y-intercept of the graph
x-S =0 (xa-';)(.%-l\ lﬁ-m{ =it . 3 %;
A5 K=| e
b) Find the horizontal asympfote d) Find the x-intercept of the graph

y&-1x#1L>-0

(x-4)(x-3)=0
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a) Find the vertical asymptote c) Find the y-nntercept of the graph
xLSx-14 =0 (_-,;-1)(1*‘2;) 5_\“,‘_,_ y W
x=7 wx=-1 13
b) Find the horizontal asymptote d) Find the x-intercept of the graph
Y=0 x-2=0
) G-y

e) Sketch a graph \ 1
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8. Use the equation to answer the following:

a) Find the vertica c) Find the y-intercept of the graph
31_3,_..13 =D 6“0 5..:,;,-\- +30. 15 = 2 . Ilta
(r-O(x+3) =0 X=-3 % 19 3
b} Find the horizontal asymptote d) Find the x-intercept of the graph
Y=l X=x-30=0
a) Find the x and y coordinate of the hole f) Sketch
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9. Use the equation to answer the following:
i x% =3x-10
=T -3
a) Find the vertical asymptote c) Find the y-intercept of the graph
v ba 1§ =
%X-1=0 = y-wt> 3 =5

b) Find the slant asymptote d) Find the x-intercept of the graph
g \ﬁ - x~\ I
e) Sketch a graph
4y -3 -0
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